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Penny Activity

1. You are starting with 100 pennies. Put them all in the cup and
record this “Initial Value” in your table.

2. Shake and toss the pennies in the plate. Move all the HEADS
aside and count the remaining pennies (the tails). Record this
number in the table as the 1* toss and return them to the cup.

3. Repeat the process until only one penny remains.

4. Look at your table with your partner. Do you see any sort of
pattern emerg1ng‘7 What type of function do you think this is?
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5. What do you expect to see on your classmate’s tables?

<Similar rpai'\'er"‘

6. Plot your points on the screen.

7. Can we write a function to represent the general shape of the
graph?
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UNIT 5: Exponential Functions

2/3 Name

Comparing Exponential Growth and Exponential Decay

The graph shows the value of two different shares of stock over the period of four years since they were purchased.
The values have been changing exponentially. Describe and compare the behaviors of the two stocks.

A The model for the graph representing Stock A is an exponential MS‘ model.
The initial value% “ Q .oO and the decay factor is \2.. - \(’ =°:5

B The model for the graph represegting Stock B is an exponential odel. The initial value fs . 03 and
the growth factor is - é = 02-.
C The value of Stock A is going M over time. The value of Stock B is going gg over time. The initial

value of Stock A iﬁm than the initial value of Stock B. However, after about years, the value of
Stock A becomes 18 than the value of Stock B.
REFLECT

3a. What is the growth rate for the increasing function above? Explain your reasoning.

200

3b. What is the decay rate for the decreasing function above? Explain your reasoning.

(o)

3c. How did the valuei of the stocks compare initially? after fogears?
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3d. In how many years was the value of Stock A about equal to the value of Stock B? w LL i wab $5

Exalain}’ourre%)liz \!La rs ’; % "‘)(f &h&.‘t—mvb

3e. In how many years was the value of Stock A about twice the value of Stock B?
Explain your reasoning.
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